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B.A. Honours PART-I Examinations, 2018 )

SOCIOLOGY-HONOURS
PAPER-SOCA-I

NEW AND OLD SYLLABUS
Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. 2NfeF A7 F=GE TG ’j‘ﬁ?ﬂ I3 ¥ 1
Candidates should answer in their own words AT NS I I G AT T4
and adhere to the word limit as practicable. Geq IR

NEW SYLLABUS

Group-A
o+

1. Answer any one question from the following within 1000 words: 12x1 =12
iR - @317 etia Ted vooo *Hwa Wiy wies
(a) Explain the deductive and inductive methods of sociology.

FAETSCE WD) € AR smfoef [reed st

(b) Discuss briefly any two theories of socialization.
AEIIFACN F-CHIA Y0 ©F FLCFCA SNAGH] SC |

2. Answer any two questions from the following within 400 words each: 5x2=10
frefeie @it 76 elvem T &ifef soo =ltars W whes
(a) Distinguish between community and association.
| TR @R U N0 A
(b) Discuss briefly the components of culture.
< R S FKTE g FEA
(c) Briefly discuss the significance of cooperation.
FRANOR SIewId FREFC I I
(d) What do you mean by relative deprivation?
iR I 3610 & Q@I ¢
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Group-B
et

3. Answer any one question from the following within 1000 words:
RS @-@I @91 2osa Te sooo =itwm g wies

(9)/Brieﬂy explain-any two theories of social stratification.
S SARTIER @-IN 46 ©F SREFCo v )

(b) Write a note on ‘Urbanism as a way of life’.

‘FoiaRm 93o =g [aew a3l it @

4. Answer any fwo questions from the following within 400 words each:

frrfeiie -cieat 15 2ivez Bag &S soo »itwa g wies

(a) What are the social consequence of divorce?

Rtz Reerea S et f ¢
\(b)/Brieﬂy discuss the types of social mobility.
AT TR PSS FRTFT! AEAG FC
(¢) What are the basic features of industrial society?
- FrwTiices (T R fr o
(d) Distinguish between class-in-itself and class-for-itself.

HPIESA @R G FAIES @M g Al F@N

Group-C
Rretat-at

5. Answer any one question from the following within 1000 words:
fAfeie - @@ 6 208w 83 Sooo *wa g mes

(a) Explain the sociological dimensions of economic life with special reference

to division of labour.

HReER Boin Retw apifel 717 sitafor Gea TiweRe ial i

AN
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) Write a note on education as an instrument of social change.

AT RS owea e o B 3l Bist (et

6. Answer any two questions from the following within 400 words each:

fafeie @-eieT 75 2e e v 2ifefb soo *itwg Teg:

(a) What do you mean by political socialization?
A& A 0 & Q&I 2
_(by Discuss, in brief, education and modernization.
ot @R SigfaSiad SRese RN Sl
(cY Differentiate between religion and magic.

xf @3 TRV W AN FEM

(d) What is the difference between organized and unorganized religion?

Haifw @I wsifde 4ol W N o

Group-D
feei-1

7. Answer any one question from the following within 1000 words:

R @I 1316 QR T6d Yooo *HI W 762

(a) Write a note on the social responsibility of science.
v e i it Ree @ S et

(b) Discuss Marxian, theory on social change.

e ARSI T wgl gt F@

8. Answer any two questions from the following within 400 words each:

e @i 7f6 elvam Bea wis lfeft oo =3 Juge

f Discuss briefly the role of technology in society.
ST efYfea GNPl FEHCH S I
() What are the social consequences of science and technology?
" R e g e weed & 9
(¢) Discuss the role of ideology in social movement.

AT SR TSR SIS AN
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(d) What is the role of social movement in social change?

e “fiata e SeweR g & ¢

Group-E
Reti-¢

9. Answer any six questions from the following within 100 words each:

EfoiRe @-IeT g3fe efvem ea wie eff$ soo it wege
(a) Define culture.
HFeF e e |
(b) What is institution?
2B =0 & Q@I 2
(c) Whnat do you mean by social distance?
HiEs nag 20 & @I 9
‘/(d) Define social mobility.
A FoeTora e e |
(e) Define marriage.
Rateza ket e
(f) Differentiate between power and authority.
VTSl 6 FY0e T AL TR
(g) What do you mean by social movement?
AAES SCwIeT o0 (< e 2
(h) Define city.
LS W WS |
(i) Differentiate between sacred and profane.
< ARG R weifRa Sy ol I
(j) Differentiate between caste and class.
< OO R AR W o1 I

11N 4

2x6 =12
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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-I Examinations, 2018

SOCIOLOGY-HONOURS

PAPER-SOCA-I1

NEW AND OLD SYLLABUS
Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. 2Nfe T =rE RN Tﬁ?ﬁ faist a1
Candidates should answer in their own words AT e ST I G NN Y
and adhere to the word limit as practicable. Ter R

All symbols are of usual significance.

NEW SYLLABUS
Group-A
fTen-s
1. Answer any one question from the following within 1000 words: 12x1 =12

fafeife @-@IET 96 2787 BEd Wi Y000 =(H VL3

4

(a) Discuss August Comte’s concept of social progress.
THIPG @lred Hes enifs’ wgba Boig b FMEoAnETE SED !
(b) Write a critical note on Montesquieue’s contribution to sociological thought.

TEelER HE TEEA TR FF 4P FAXTOATEE A

2. Answer any fwo questions from the following within 400 words each: 5x2=10

e @-i §i5 2ieaR Ten whe eifsfb soo *Itw@ e

(a) Write a short note on University Revolution.
RafRwgiera Rer 37eitE FREwC ST ST

(b) What do you know about Spencer’s organic analogy?
oI T STeRTR I 31 Al G

( ) Write a short note on hierarchy of sciences.
TR S R FolTE G0 DI e

(d) Write a short note on Comte’s method of enquiry to study sociology.
SETOG S5 CFG (IS SPTH (S ST 1
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Group-B
eta-2
3. Answer any one question from the following within 1000 words:
ffeRe @-@imt gofp 2rem e ws Sooo WwA W4
(a) at is alienation? What are the different forms of alienation?
ffvegret 7e1ce & ICA ¢ @7 Rfow el & & of wics s

(b) Explain Marx’s dialectical method for the study of society.
e Rese Sk s 71@fs i FEt

4. Answer any fwo questions from the following within 400 words each:

iR @-ieat 76 2ivem Tea e &f$fb soo *itwa wwge

\(a/What do you mean by surplus value?
TY© &1 IECo & RN 2

(b) What are the basic features of feudalism?
A 3 cafiEre e Stesal I

.

(c) Write a short note on class consciousness.
I e T @ Bt TN
(d) What is meant by super-structure?

TRl TeT0e 5 @R 9

Group-C
et

5. Answer any one question from the following within 1000 words:

fEiRe -t =5 v Tea s sooo @ Ts

(a) Examine the rules of Sociological method as discussed by Durkheim.

TSI ~1aToa iR ot qUdRea I@<) S !
(b) Write a note on Durkheim’s typology of suicide.
3 SRSy A et Beta (b Bt et

1108

12x1 =12
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12
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6. Answer any two questions from the following within 400 words each: 5%2=10
fersfefe @-ctet 16 eiva Ted wie 2ifefb soo =it Wews
(a) Distinguish between mechanical and organic solidarity.
MfEe @ tera Frefon W AN T
(b) What does Durkheim mean by collective conscience?
(e Rz <700 R R R 2

(¢) What is sacred and profane according to Durkheim?

“ifRq & SRy FeTre 7R & IRicares 9
i i ? e NI
(d) What are the functions of Repressive law? /,;i - 7 \,\ \\\
WWWWW: :( \}“;
W
1\:} y t'{t/
N
Group-D
fett-q
7. Answer any one question from the following within 1000 words: 12x1 =12

sl @-@ie 936 2rs $6a WIS Sooo AT 4TS

(a) Write an essay on Weber’s Methodology.
SRAIER Tl 7910 ST S |

(b) Following Weber, discuss the relation between the Protestant ethic and
Capitalism.

GTIRATE TP I (2GIHIE T30 8 YA 91 S 0 |

8. Answer any fwo questions from the following within 400 words each: 5%x2=10
oo @-@im 7f6 eve ea wie &ff$fb 8oo =it s
(a) Write a short note on bureaucracy.
WINENSE F-ACF FKCFCA (T
(b) What does Weber mean by Ideal Type?
Sivefret IS SRR 6 JRICEA 9
(c) Write a short note on Weber’s notion of social action.

SERIEE ANEs FIaE g Soig @ wEg B @ean

1108 3 Turm Over
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(d) What is the difference between power and authority?

8 FYCLd W) ST A T

Group-E
Rett-g

9. Answer any six questions from the following within 100 words each:

feide @-ce gf’ arsa T wie &Sl Soo i was

\/(\a)/What does Comte mean by social dynamics?
e sifsfim e rie & JRicares ¢

(b) What is super organic evolution?
wfere R FF 30 9
(¢) When and where did Industrial Revolution occur?
V' 6 o st e <O 7
(d) What is class according to Marx?
I FoTTS WA P IR 9
(¢) What is ‘means of production’?
TeAMTAR o1l IS 16 (IRI 2 2
\}9} What is totem?
v oo & ¢
(g) Write two features of social fact.
A 9o 1o @& e
(h) What does Durkheim mean by moral density?
/ o Ty Feice e & IR 2
(i) What is intuitive understanding according to Weber?

GO IR AafS 360 SRR R IRicacen ¢

() What does Weber mean by Legitimacy?
39! TS CTERN & IR 9

1108
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